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A second constant of motion follows from the invarianee of 3 under rotations
about the z axis
Ba = —3H/dd = 0 (2.8)
or

P, = gl M= A (2.9)
where the integration constant I' has the dimensions of a reciproeal length.
The three-dimensional problem is thus redueed to the simpler problem .of
finding the two-dimensional motion of a particle in the p — 2 plane under the in-
Auence of the potential wilh Y= l

Vo= (1/2ym)[(gD/p) — gd ) M= A, (2.10)
Onee this problem has been solved to find p(t) and z(8), a(¢) may be found by
integrating equation 2.4
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